Problema DER-A1-002 : Derivata semplice

DER-A1-002- /esto

Calcolare la DERIVATA della seguente funzione:

_ log xsinx + 3x*

3/?+3

DER-A1-002- Procedimento

D[Iogxsinx+3x2](§/x_2+3)— D[%/x_z+3}(logxsinx+3x2)

y'=
(3 X +3)

yo D[ 1og Xsin X +3%” | ovvvcccvee D[%/?Jrﬂ ________________________
y'= {D[logxsinx]+ D[3X2]'} ............... {D[3 <+ D[?’]} """""""

{D[Iog x](sinx) + D[sinx](log x)+3D[X2]} ........ {D{Xg} n D[3]} ______
yl: ...............
i {()l(}(sin x) +(cos x)(log x)+3(ZX)} .......... {@Xil}r(o)} ______________
y.:(+COSXIOgX+6Xj ........ {X3J ..............

DER-A1-002-Soluzione

sinx It 3)-| 2 i 2
( ; +cosx|ogx+6xj(\/x—+3) (33/;j(logxsmx+3x)

)

y:
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